FEZ H FLLF |

2127 #4480 €8t 4
- R4 &
- B4
- BB
- 55844

ot od5 &
- FH B)% ef i)
- Z R MR oF R
IR k46

- jf@)s@_/?\z@ ’49\% " WA ST TS

R R
o AR F\,ACLAV AR FE e T A 21 F 7] FE

d.
éﬁ 0<mcowo st PP > o0

(P& (ai)=l, 1) (3300 (i a3 ) <B
) - (| =Z 7| &< N=0€r23,
o Ay TR B E ] FE

def .. : \ :
<_—€f> A—9 B ¥ —>q (@ t%(

(EHE) 2= ) /

HERHBEET 11 (2023) 1/10




= A—a, 3ok Bo A— B (P64 )
/4
N4,k
n (AE%)E o qedd o RAEE M)
Cl) ﬁ% {% : A e ,\ (’nco?; PWG.A)=1>0)

) WAAE L emy = > <= 4

(3) *{(é},ﬁf'&ﬁ’ (\<—->'§/j<—~>12=——>zi<—\>£
(7690 ¥4 6 1 FL2 23 o fou)

,D,ZL %/é\ B« T H ERAN) (’(Wco(uciue-)
A .
j> “iyeB A ie—) TuET
e T UL MAAR) A BRA 5
Yazi2) £48n BReh 245 5>

Pet BB T N PACZ-3 (cfpsed)

S &b Yies FFTE(
Aoy 2By (BASIFRG W)

o ¥R
E (RUEAE o 67) —
=103 4 2
”):l [ © v o 7

2 P O / =

3 o [ °o

“Lr9 v s _ et ek

(77'(%"""-1 5’-_’, ?,“t.hi‘>0) \%\(77,735

HESRHBEET 11 (2023) 2/10



(
HKF& 1e T aomBIRe P umdmit
def (1= 0 AT Ul w =l vE )
[a — Em? E’VIZI J ana }
Tl Ynzlo Yok hs T = 33

fG2) = P(T<ool¥emi) = 2 P(B=nlxo=a):
FliEAm

D& (7% i) y
A BB = i) (XhaserlEz<d)

"l —
A &3 E B b éf? fa.< | (Az&Ront (F '[}“u)
=

N3 = 227 % A B Z) 2=l T FE TR DA

94Ga) = P(Hj=eo| Xo =2 ) (EFRBFHUIFEZE)
Thw

AN B = 9= |
A b\":i% @T\’?F i <= 9(i.a) = 0 //

\7'-<r ?(}1.2\)(7}' O] 2° 4;!9(5‘) \’F/;"u

HERHBEET 11 (2023) 3/10



U & |
a3 A Z 9B A L Ty odh b B A TANE)

PNz [%=0)
—Z, Pz | =k, %210 P(T | 4)
ﬂf;l'ﬁlv‘f%z
‘/\(:5']2{__

= F<N2"(T 'E) P(fn Yo:é)

(: Hﬂrbm‘fi BEZ) R 24w w2
KT V/47 Z'QT(\.-'\{\ZE_U)

= E Pz ()= 2D P(Be£l02 )
(3% f< B3] 0 L hz A3 To1e LR AR 292"
Nogbd-tz 1o2iBRED )

= PNz X =4) Z P(Ta=t|X-=2)

W
I

P(Ta<oo | ¥om3) = A6, 4)
P(Nsz a1 |Ko=a) 4(3,4)

I

I

P(N>z o lxo=2 L) G0 = 460 {60

— I
T

C2 1 9rae(l. Moas T ERE

(2a)= fom P(Nyzn(Xo=a) =

h— oo

| |

P Q Izn) [Yo=a) y

HERHBEET 11 (2023) 4 /10

[ 0 ({Ga<r)
I (#4.0=1)



Thm A B YE B < j_%’ipw(a.a) - 0

E"’_{}\\ o= 7 acZ
zho?;:ec_ [ { (Xn:h)
O (Kn'JF'I\)

s N = % 2, A3l HE 3 (% l?ﬁdﬂl@%’()‘
—nr?. e

E[Z2Y=41] : = E[2%=a1 =2 pO(ar)
—HT. @ e At B TES

E[Z2 [%=n] = ELNIY=27= E[ 21 nza)Xt ]

f=(
[A's)

= = P(Nsz (=4 )
=20 64)° ¢ RRaE

=

2. ARG <S {Gi)=] & ZpPo)-
F i | &HPOGD=

HERHBEET 11 (2023) 5/10



B (5086 7)
i 9 | Bo WAl 24 LR THEE P
R @0

—\—%:iﬁ' —t

T 4 =P =9

[)(MH)(”/O) =0
PO (40) = ﬁvn) g - Lon)L_ phgy

nint
(v, n@E%E)
Stinling 0 NN &) w2 TN g

C>h) ~ CLL___’P%)VI i 43 £| T
penlee) = p=
P=%= 1+ A€ aq> 4¥h=|

BB 4¥9=40(en) = 1-4(r-4y 2 |
o2 MLTFTAS

(i) pg acL
Zpt00)<co —p 1EBIE D

Z
Rt matbsbo 7 7o 0wl (FAvkie @)
3= Lt AE B)E D

HERHBEET 11 (2023) 6/10



- PR E « Beld iﬁfe&%;/@fﬁi
Lew o) 4K FE 2 o BB SG o> a5 T )t Ak 0 |

) AR v B\ Gt B A 21 BIR KT+ Tt DK

e (PAzeEg oo
213 )

M () #% 4G.)=1 TWT (@6 j— )
AR BYe Sy oz L(ad)=l 733,
Ay EY) . ET e, b ae= ) R3FE BN BIEQ
P(a ) blin, Az) - F(nk. 3) > o
YAk VAR P VR 9;&\7,\/\2/?(1&%%%4{??
a3t
0= - #a)= P(A a) - P (o, 3)(/— £(3,4))

(Abfitew) — <

=< 2b7nb25ﬁupJ

= J6G.a) =1 B3

[CEH) A< ) T

43¢, KEI momoo A R
PO (43050, PO (40)> o

'Z/,\
aO
22 plmt#) 05 0y > = p 40y PPy pPClis)
— ,D(rﬂ(@ 3D (Z (;Cﬁ/ n)> F(m)( 5)
> o = oo ,> o
_ g | raBis)
& 4
HERHIET 211 (202§ ol '0 g Hﬂ% k‘) /

7 /10



) prareh oAb Briah . AT B <

Mo R osEmE) . Yyel =HL

=k 72 ANAEIRLTES-F)
o= = E[NiX=3]=ELGN:[¥.75]

-~ aéA

&3 N A Blc2zwd By  BrAgs = IREY. 14
‘620, = N:=0 “hs922. TE B3 7

Yy
/ﬂ_W_ é/{é /A\ ﬁ"/ﬁ?@?: Wvﬁﬁa ) l%ﬂ fF? /{d\éw If 5{3 e
B\t 2 %3
M Lemae) ko BVE 6 KT F et 100

Arh3 ke i gy Aw BT Yief v
A3 vy Al BIG A o [en) £) 5% E}‘}%Bé/
The (R BAELOILTE )

R~ 0[5 AR 2B =453 \KFE 2 2 B BOA

Az dEBIFIA MY WFhAZHD, y

(7 Lew ) &). FGEBH )
LR bk BEAR BAAE ol F = 7591 TH

HERHBEET 11 (2023) 8/10



Thn (BEAA BB A9 AR )
T={reT |2 elza—) B i—pa | HRES

3 C BR4h- 1) P
IT-T = KiuRy--- (Kr\nkj:?é, A—’#é)
) 7w 2. A Re lF BRED B> B @ ’

£k, T I RFLEDAZ0 Rett AIF W P B IBEPR
frets ieT-T €22 2. C=[3]in3) Yhe
(n 05 B)ETE 1A 025)

AETE| 4K a—) BSH EELL AT A3,
%) 1el@G) & a9 7H3
F2 Y lecc) it bera, Lo zEFo. Bl
tB5 TR CG) 1 ERAD .
Toh. G g B vBIc by T tTes jecl)e e,
%3 Rel ksl 1> RTHICHIT A7) 3 ek
Ao vy, ReC@) 233 7). CEE)
BLEE) L CG) & BIAD »o PR
o B reI-T it BRSO n Bk dh el =
A Elzaed. 2L FloselTrE B CG) be. C)nCUI+S
T ?eihs eyt RILI0 (()=¢cG) 2hH3

£2. 1= 1= Rlufazd ~-- T /S%’"J'Z"i?\
£ e LIAFRGS/S ket RERTRoZ . Re & BIR SO
%ﬁﬁm’\hﬂ;‘) /

HERHBEET 11 (2023) 9/10



= kl

F Ra
Ry

R

T

X TH 3R:
Tl R

HERHIRT 511 (2023)

~ Rl Rz R} RN T -
H>( 'j
(0
B0
U Py
Q'\Q__Qj“_éu R

é(%l?/p (C(\QS': Pﬂt—{—(l/é POMT’) lf,ﬂflh
M o8 RAF) YaeT i 9F A )% 4

(Ap ByEbh B a5 2®5 £ j— ACH),

ART k3 )

10 /10



